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conclusion lacks credibility cause the evidence cited in theanalysis
does not lend strong support to what the arguer maintains.
Tostrengthen the argument, the arguer would have to provide more
evidenceconcerningld [ 2. moreover, it would be necessary for the
arguer to rule out all theabove-mentioned possibilities before we can
better evaluate the argument. 3. As it stands, the argument is not well
reasoned. To make it logicallyacceptable, the arguer would have to
demonstrate that[J (1 4. additionally, the arguer must provide



evidence to rule out other possiblecausest] [1 5. To conclude, this
argument is not persuasive as it stands. Before we acceptthe
conclusion, the arguer must present more facts to demonstrate that
[1 6. To solidify the argument, the arguer would have to produce
more evidenceconcerningd [ 7. In summary, the conclusion
reached in this argument is invalid andmisleading. To make the
argument more convincing, the arguer would haveto prove that(d] [
8. Moreover, | would suspend] [0 OO LJ my judgment about the
credibility of therecommendation until the arguer can provide
concrete evidence thatld [0 100Test U O U0 OO0 OO0 OO
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